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QUESTION 1

What is the easiest way to enable SD-Access for all your remote sites after you have your campus SD-Access fabric up
and running? 

A. Treat all sites as one fabric domain and use the traditional physical network as the underlay. 

B. Use a separate fabric domain for each site and use SD-WAN as the underlay. 

C. Use a separate fabric domain for each site and use the traditional physical network as the underlay. 

D. Treat all the sites as one fabric domain and use SD-WAN as the underlay. 

Correct Answer: D 

 

QUESTION 2

Which component of the SD-Access fabric is responsible for communicating with networks that are external to the
fabric? 

A. edge nodes 

B. control plane nodes 

C. intermediate nodes 

D. border nodes 

Correct Answer: D 

 

QUESTION 3

Which feature is supported on the Cisco vEdge platform? 

A. single sign-on 

B. IPv6 transport (WAN) 

C. 2-factor authentication 

D. license enforcement 

E. reporting 

F. non-Ethernet interfaces 

Correct Answer: B 

 

QUESTION 4
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Which option will help build your customers platform during the discovery phase? 

A. business case 

B. detailed design 

C. POV report 

D. high-level design 

E. PO 

Correct Answer: A 

 

QUESTION 5

Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.) 

A. Guest and wireless access 

B. Software-defined access 

C. Device management 

D. Asset visibility 

E. Software-defined segmentation 

Correct Answer: BE 

 

QUESTION 6

Which two statements are true regarding SD-WAN demonstrations? (Choose two.) 

A. As a Cisco SD-WAN SE, you should spend your time learning about the technology rather than contributing to demo
innovation. 

B. Use demonstrations primarily for large opportunities and competitive situations. 

C. During a demo, you should demonstrate and discuss what the team considers important details. 

D. There is a big difference between demos that use a top down approach and demos that use a bottom up approach. 

E. During a demo, you should consider the target audience and the desired outcome. 

Correct Answer: DE 

 

QUESTION 7

Which two statements describes Cisco SD-Access? (Choose two.) 
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A. programmable overlays enabling network virtualization across the campus 

B. an automated encryption/decryption engine for highly secured transport requirements 

C. software-defined segmentation and policy enforcement based on user identity and group membership 

D. a collection of tools and applications that are a combination of loose and tight coupling 

E. an overlay for the wired infrastructure in which traffic is tunneled via a GRE tunnel to a mobility controller for policy
and application visibility 

Correct Answer: AC 

 

QUESTION 8

What are three ways in which Cisco ISE learns information about devices? (Choose three.) 

A. user authentication to the ISE 

B. SMTP agents 

C. RPC mechanism via HTTPS 

D. traffic generated by the device 

E. network servers the device has accessed 

F. RADIUS attributes 

Correct Answer: DEF 

 

QUESTION 9

Which Cisco vEdge router offers 20 Gb of encrypted throughput? 

A. Cisco vEdge 5000 

B. Cisco vEdge 1000 

C. Cisco vEdge 2000 

D. Cisco vEdge 100 

Correct Answer: A 

 

QUESTION 10

Which element of the Cisco SD-WAN architecture facilitates the functions of controller discovery and NAT traversal? 

A. vBond orchestrator 
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B. vManage 

C. vSmart controller 

D. vEdge 

Correct Answer: A 
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